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Choose the correct answer as follows (& Lad daauall 4aY) i

lim(4x - 10) = g lim(4x — 10)
X— xX—

-10 d 5 a

2 2
. . 2—
Calculate lim =

x—2 x-2 r—2

Bagaga
Does not exist

2
a xX=—4Xx
Calculate lim ———
x—5

o Equal

|

From the opposite figure be Li_r_rul f(x)=  gsi !rlng Fx) G Jilhall JS&N

Bdgn pa b
Does not exist
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From the opposite figure be lim f(x) = $os lim f(x) CosS Jiaal) JS&d) Ga
=L X=C

339294 &
Does not exist ¢ . » e =
From the opposite figure be Iins Fix) = XL lin(} [ (x) Jaall Jld) (e
X~ X~

3392 90 il
Does not exist
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From the opposite figure be lim2 f(x) = § gk Iimz f(x) Jiaad Jedd e
x—+— x——

fix)

T ¢
\
/

Y

Bigga b R
Does not exist

cuilg 13

3
) ” _[(¥+3 ,x<1
Jo8 lm ()00 £x) {2x+1 ; ®21

3
_Ix*+3 ,x<1 " .
d f(x}_{2x+1 ' x>q ° Em Jim f(x) =

3igaga b 4
Does not exist

» (ia _[P+3 ,x<1
o< lim f(x) o8 Jf(Jﬂ"{z.rﬂ L x>1

2 +3 ,x<1 : L
dich M RENEEE U L

a9 e b
Does not exist
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—iia : V43 ,2<t cnes
8 = ’ AS 1)
s ) 2 IR0 {2x+1 e

_ P43 |, 2 | . -
f(x)—{2x+1 ' Gy o SRR =

3agasa
Does not exist

From the opposite figure be lim6 #9Hy) = EX lim6 g(x) Jaad Jsli Ga
x—- D

3a g ga b
Does not exist

Calculate lim =
x—0 xt

339 9a )b
Does not exist

x2+x-22
Icul lim ———
Calculate o S T

3agase u | d
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From the opposite figure be '!,ir?o f(w) = X ‘!,ilg f(w) Jiaad Js&d Ga

3 ga b 0 .
Does not exist

From the opposite figure be iins cosi =

339 9a b
Does not exist

Calculate lim Vvx + 3 = § Sl xlnpl Vx + 3 Algdl dad

Xx——1

2 vz 2 vz

Calculate lxin‘:(aur3 -3x2-85x+7) Lin‘t(x:“ —3x2 - 5x +7) Ll Al

0 d 64 3 b 4 a
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. xX2—x—6 . X2—x6 . .
Calculate lim = g3 lim gl dud
3 r—3 x—3

x—+3 X-

Bag e
Does not exist

x5

Iculate lim =
Calcula EI_.E P T

Bignga
Does not exist

Calculate

Bagpga b
Does not exist

Bagnpa b
Does not exist
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2

2x3 — x

lim

x-o 3x%2 -1

& Sy (3,2)3.!:13!.\.“- y:xz wadall daal) Jia

The Slope of tangent to curve y = x? |, at the point (3,2)

12 d 9 6 b

A0 ¢ sy paily 5 SN BUS ) R(x) = —161% + 958 + 15 Al Jidd Suay e 5 8 bl
=25 t= 15 Oa bl A5 sl 4gadall dau giall A sl L
Throw a ball up so that the function h(x) = —16t* + 95t + 15 represents the
height of the ball in feet after t seconds. What is the average velocity of the
spherefrom t = 1s to t = 2s 7

47ft/s 4.7ft/s 470ft/s
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B OIS g V) sad Apaki dakal pa) LA ey 30fE 4SUD) Al o) ) Glals 2aa
¢ 25 dmy Ghalll {gadall de ) 2240 A(E) = 30 — 1617 ABally ey 450800 dakil)
Salman climbed to the top of the building with a height of 30ft and from there
he threw a coin towards the ground and the height of the coin was given by

the relationship h(t) = 30 — 16t? Find the instantaneous velocity after 25 ?

64ft/s 30ft/s —-32ft/s —64ft/s

If f(x)=x3+2x then f'(x)=gs f(x) M f(x) =23 +2x <is 1)

3 +2 d 3x+2 c 2 +2 b| 32+2x |a

Derived function g(x) = 3x*(x + 2) g(x) = 3x*(x + 2) V) dnda

12x* +2x3 |d| 3x5+6x* | c| 15x*+24x® |b| 3x*+2x3 |a

_ dy . dy . s .
If }*_;5- i then = = & gl Eul:l y_x—ss_i.'ﬂjl.i!

5 5 5 5

x* xb xé xt

gl x Lo [—5,1] 550 e f(x) = 2x2 4 8x Wl ds o Al 33 5,

There is a critical point for the function f(x) = 2x% + 8x

over the period | -5, 1| when x is equal

4
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s [0,3] 550 Je g(x) = a3 — 3x? + 3x Alall aliad) Aol

The maximum value of g(x) = x* — 3x? + 3x , over the period [0,3] is equal

3 d 8 c 9 b 0 a

Gotd [1,4] 5580 Jo r(8) = t* + 617 — 2 A 5 juall Lol Ak

The minimum value point of the function r(t) = t* + 6t% — 2

over the period |1, 4] is equal
(1,—5) (0,-2) c (4,350) b (1.5)

] ?-x_]-ﬂ - -
gl YY) = 4llall 4aiiia
¢ J(x) 12x+5

7x-10

The derivative of the function j(Xx) = oac  sequal

55 —155 155 155
(12x +5)° (12x +5)° 12x+ 5 (12x + 5)°

Derivative h(x) = (-7x2 +4)(2-x)? Yh(x)=(-7x*+4)(2 - x) 4l

21 -28x -4 [d| —14x 14x bi| -Alr=am
+4
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3 peannall Adkaiall daless Juliall JSEN Adladul
Im;f(x):-xz+1zngulifﬂi
b A5 (5 by SOlaliona 4 Jlaxiaily [0, 12] 5540 e

Using the corresponding figure, the area of the confined area
Between the curve f(x) = —x? + 12x and the x-axis

Over the period |0, 12| using 4 rectangles is approximately equal

d | | c] | b] a

The integration value J'; x.dx is equal 5 g f: x.dx ) Jasil Al

3 | d | 2 | c] 4.5 | b | 3.5 |a

god  f(x) = 6x  Adall iglay) A

The antiderivative function of f(x) = 6x is equal

3x+c ld| 3x°+c | c| 6x° + ¢ Ilb| 6+c¢c |a

gad  f(x) = % adiall dglaay) Adial

The antiderivative function of f(x) = -5 is equal
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sladly 100t AUS)) Jiada (58 n padd gy 58 Al 4ol p(2) = —32¢ D Jiad
Eahed 400 ¢ any s(t) padAl aB gall A b slall pha

The function v(t) = —32t is the speed at which a person has jumped off a

100 ft slope toward the water surface so the position function of the person

s(t) after t seconds is equal

—16t2+32 [d] -162 [c| 162+100 [b] —16¢*+100 |a

s S s g Juliall JSEIG  dadiall Ciad Al ddkaiad) Aol

The area of the shaded area under the curve in the opposite shape is

approximately equal

24.80 b 32.76 a

thiadld [Fh xdx =6 oSN

If J’;’ k.xdx = 6 then what is the value of k ?(i.e. kis constant number)

4 d 3 c Z b 1
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g [(x

The integration value fob(x +2).dx isequal

+ 2).dx 3aall Jalsil) 4ed

45 23

13

approximately equal

L A (g gbed Jilial) JSAIy dadall Cad Al Adkid) Aol

The area of the shaded area under the curve in the opposite shape is

b 11.33 a

The integration value [ 4x? dx is equal

o [4xPdx Jasd

4x* + ¢ x+c

x*+c

St llly ol gilyiolly giiliati po




